

# ON THE MONOTONICITY OF $\sqrt{\mathcal{H}_f(p, q)\mathcal{H}_f(-p, q)}$ AND ITS APPLICATIONS

ZHENHANG YANG

ABSTRACT. Let  $f(x, y)$  be a positive symmetric  $n$ -order homogenous function defined on  $\mathbb{R}_+ \times \mathbb{R}_+$  which is three-time differentiable. Then  $\sqrt{\mathcal{H}_f(p, q)\mathcal{H}_f(-p, q)}$  is strictly increasing (decreasing) in  $p$  on  $(0, \infty)$  if  $J = (x - y)(xI)_x < (>)0$ , where  $I = (\ln f)_{xy}$ . As applications, H. Alzer's inequalities are generalized and refined, some new inequalities for logarithmic mean, arithmetic mean and exponential mean are presented.

## 1. INTRODUCTION AND MAIN RESULT

The generalized logarithmic mean between two positive numbers  $a$  and  $b$  is defined by

$$(1.1) \quad S_p(a, b) = \begin{cases} \left(\frac{b^p - a^p}{p(b-a)}\right)^{\frac{1}{p-1}}, & p \neq 0, 1, b \neq a; \\ \frac{b-a}{\ln b - \ln a}, & p = 0, b \neq a; \\ e^{-1} \left(\frac{b^b}{a^a}\right)^{\frac{1}{b-a}}, & p = 1, b \neq a; \\ a, & b = a. \end{cases}$$

Concerning  $S_p(a, b)$ , there are many results, in which A. Horst obtained the following inequalities [2]:

$$(1.2) \quad G(a, b) \leq \sqrt{S_p(a, b)S_{-p}(a, b)} \leq L(a, b),$$

where  $G(a, b) = \sqrt{ab}$ ,  $L(a, b) = (b - a) / \ln(b/a)$  ( $a \neq b$ ),  $L(a, a) = a$ .

Substituting  $J_p(a, b)$  for  $S_p(a, b)$ , inequalities (1.2) still hold [3, 5], where

$$J_p(a, b) = \begin{cases} \frac{p(a^{p+1} - b^{p+1})}{(p+1)(a^p - b^p)}, & p \neq 0, -1, b \neq a; \\ \frac{a-b}{\ln a - \ln b}, & p = 0, b \neq a; \\ \frac{ab(\ln a - \ln b)}{a-b}, & p = -1, b \neq a; \\ a, & b = a. \end{cases}$$

On the other hand, the generalized logarithmic mean was extended into two-parameter homogeneous functions by the author [6]:

**Definition 1.** Assume  $f: \mathbb{R}_+ \times \mathbb{R}_+ \rightarrow \mathbb{R}_+ \cup \{0\}$  is an  $n$ -order homogeneous function of variables  $x$  and  $y$  which is continuous and exist first partial derivatives,  $(a, b) \in \mathbb{R}_+ \times \mathbb{R}_+$  with  $a \neq b$ ,  $(p, q) \in \mathbb{R} \times \mathbb{R}$ .

If  $f(x, y) > 0$  for  $(x, y) \in \mathbb{R}_+ \times \mathbb{R}_+$  with  $x \neq y$  and  $f(x, x) = 0$  for all  $x \in \mathbb{R}_+$ , then define that

$$(1.3) \quad \mathcal{H}_f(p, q; a, b) = \left(\frac{f(a^p, b^p)}{f(a^q, b^q)}\right)^{\frac{1}{p-q}} \quad (p \neq q, pq \neq 0),$$

$$(1.4) \quad \mathcal{H}_f(p, p; a, b) = \lim_{q \rightarrow p} \mathcal{H}_f(a, b; p, q) = G_{f,p} \quad (p = q \neq 0),$$

---

Date: May 3, 2006.

2000 Mathematics Subject Classification. Primary 26A48, Secondary 26E60.

Key words and phrases. Two-parameter homogeneous functions, monotonicity, inequality, mean.

where

$$(1.5) \quad G_{f,p} = G_f^{\frac{1}{p}}(a^p, b^p), \quad G_f(x, y) = \exp\left(\frac{xf_x(x, y)\ln x + yf_y(x, y)\ln y}{f(x, y)}\right),$$

$f_x(x, y)$  and  $f_y(x, y)$  denote partial derivative with respect to first and second variable of  $f(x, y)$  respectively.

If  $f(x, y) > 0$  for all  $(x, y) \in \mathbb{R}_+ \times \mathbb{R}_+$  then define further

$$(1.6) \quad \mathcal{H}_f(p, 0; a, b) = \left(\frac{f(a^p, b^p)}{f(1, 1)}\right)^{\frac{1}{p}} \quad (p \neq 0, q = 0),$$

$$(1.7) \quad \mathcal{H}_f(0, q; a, b) = \left(\frac{f(a^q, b^q)}{f(1, 1)}\right)^{\frac{1}{q}} \quad (p = 0, q \neq 0),$$

$$(1.8) \quad \mathcal{H}_f(0, 0; a, b) = \lim_{p \rightarrow 0} \mathcal{H}_f(a, b; p, 0) = a^{\frac{f_x(1,1)}{f(1,1)}} b^{\frac{f_y(1,1)}{f(1,1)}} \quad (p = q = 0).$$

Since  $f(x, y)$  is a homogeneous function,  $\mathcal{H}_f(p, q; a, b)$  is also one and called a homogeneous function with parameters  $p$  and  $q$ , and simply denote by  $\mathcal{H}_f(p, q)$ .

Put  $q = p + 1$  in the Definition 1, then  $\mathcal{H}_f(p, p + 1; a, b)$  is called a one-parameter homogeneous function [7]. Concerning  $\mathcal{H}_f(p, p + 1; a, b)$  the author obtained a generalization of (1.2), which is read as follows:

**Theorem 1** ([7, Theorem 7]). *Let  $f(x, y)$  be a positive symmetric  $n$ -order homogenous function defined on  $\mathbb{R}_+ \times \mathbb{R}$  which is three-time differentiable. Denote  $\bar{\mathcal{H}}_{1f}(p) = \mathcal{H}_{1f}(p)\mathcal{H}_{1f}(-p)$ , then the function is strictly increasing (decreasing) in  $p \in (0, +\infty)$  and strictly decreasing (increasing) in  $p \in (-\infty, 0)$  if*

$$(1.9) \quad J = (x - y)(xI)_x < (>)0, \quad \text{where } I = (\ln f)_{xy}.$$

By Theorem 1, we easily obtain the following

**Corollary 1.** *The conditions of  $f(x, y)$  are the same as those of Theorem 1. Suppose that*

$$(1.10) \quad f(+0, 1) := \lim_{x \rightarrow 0, x > 0} f(x, 1) = \gamma > 0$$

or

$$(1.11) \quad \gamma = 0 \text{ but exist } \delta > 0 \text{ such that } \lim_{x \rightarrow \infty} x^\delta f(e^{-x}, 1) = \lambda > 0.$$

If 1.9 is true, then for  $q > 0$  the following inequalities hold:

$$(1.12) \quad G^n(a, b) < (>) \sqrt{\mathcal{H}_{1f}(p)\mathcal{H}_{1f}(-p)} < (>) \frac{f(a, b)}{f(1, 1)}$$

In this paper, we will show a result that is similar to Theorem 1, which is also more generalized and refined than 1.2. It is stated as follows:

**Theorem 2.** *Let  $f(x, y)$  be a positive symmetric  $n$ -order homogenous function defined on  $\mathbb{R}_+ \times \mathbb{R}_+$  which is three-time differentiable. Then  $\bar{\mathcal{H}}_f(p) = \sqrt{\mathcal{H}_f(p, q)\mathcal{H}_f(-p, q)}$  is strictly increasing (decreasing) in  $p$  on  $(0, \infty)$  if 1.9 is true.*

**Corollary 2.**  *$f(x, y)$  satisfies the conditions that are the same as those of Theorem 2, and (1.10) or (1.11). If  $J = (x - y)(xI)_x < (>)0$ , then for  $q > 0$  the following inequalities hold:*

$$(1.13) \quad G^n < (>) \sqrt{\mathcal{H}_f(p, q)\mathcal{H}_f(-p, q)} < (>) \mathcal{H}_f(0, q).$$

## 2. PROOF OF MAIN RESULTS

For proving Theorem 2, we need certain lemmas of two-parameter homogeneous functions.

**Lemma 1** ([8, Lemm 3, 4]). *Suppose that  $f(x, y)$  is a positive  $n$ -order homogenous function defined on  $\mathbb{R}_+ \times \mathbb{R}_+ \setminus \{(x, x) : x \in \mathbb{R}_+\}$  which is three-time differentiable. Set  $T(t) = \ln f(a^t, b^t)$ ,  $a^t = x, b^t = y$  with  $t \neq 0$ , then*

$$(2.1) \quad T'(t) = \frac{a^t f_x(a^t, b^t) \ln a + b^t f_y(a^t, b^t) \ln b}{f(a^t, b^t)} = \ln G_f^{\frac{1}{t}}(a^t, b^t),$$

where  $G_f(x, y)$  is defined by (1.5);

$$(2.2) \quad T''(t) = -xyI \ln^2(b/a), \quad \text{where } I = (\ln f)_{xy};$$

$$(2.3) \quad T'''(t) = -Ct^{-3}J, \quad \text{where } J = (x-y)(xI)_x, C = \frac{xy \ln^3(x/y)}{x-y} > 0.$$

**Lemma 2** ([9, Property 4]). *Suppose that  $f(x, y)$  is a positive symmetric of  $n$ -order homogenous function defined on  $\mathbb{R}_+ \times \mathbb{R}_+ \setminus \{(x, x) : x \in \mathbb{R}_+\}$ , then*

$$(2.4) \quad \mathcal{H}_f(t, -t) = G^n,$$

$$(2.5) \quad T(t) - T(-t) = 2nt \ln G,$$

$$(2.6) \quad T'(t) + T'(-t) = 2n \ln G,$$

where  $G = \sqrt{ab}$ .

**Remark 1.** *If  $f(1, 1) := \lim_{x \rightarrow 1} f(x, 1) > 0$ , then define that  $T'(0) := \lim_{t \rightarrow 0} T'(t) = n \ln G$ . Thus (2.6) can be written as*

$$(2.7) \quad T'(t) + T'(-t) = 2T'(0).$$

Be equipped with Lemma 1 and 2, next let us prove main results.

*Proof of Theorem 2.* Since  $f(x, y)$  is a symmetric  $n$ -order homogeneous function, we have

$$f(-p) = f(a^{-p}, b^{-p}) = (ab)^{-np} f(b^p, a^p) = (ab)^{-np} f(a^p, b^p),$$

hence

$$\begin{aligned} \mathcal{H}_f(-p, q) &= \left( \frac{f(a^{-p}, b^{-p})}{f(a^q, b^q)} \right)^{\frac{1}{-p-q}} = \left( (ab)^{-np} \frac{f(a^p, b^p)}{f(a^q, b^q)} \right)^{\frac{1}{-p-q}} \\ &= (ab)^{\frac{np}{p+q}} \left( \frac{f(a^p, b^p)}{f(a^q, b^q)} \right)^{\frac{1}{p-q} \frac{p-q}{-p-q}} = G^{\frac{2np}{p+q}} \mathcal{H}_f^{\frac{q-p}{p+q}}(p, q), \end{aligned}$$

and then

$$(2.8) \quad \bar{\mathcal{H}}_f(p) = \sqrt{\mathcal{H}_f(p, q)\mathcal{H}_f(-p, q)} = \mathcal{H}_f^{\frac{q}{p+q}}(p, q) (G^n)^{\frac{p}{p+q}},$$

take logarithm to the above two sides,

$$(2.9) \quad \begin{aligned} \ln \bar{\mathcal{H}}_f(p) &= \frac{q}{p+q} \frac{T(p) - T(q)}{p-q} + \frac{p}{p+q} \ln G^n \\ &= \frac{q(T(p) - T(q)) + p(p-q) \ln G^n}{p^2 - q^2}. \end{aligned}$$

A simple derivative calculation leads to

$$\begin{aligned} \frac{d \ln \bar{\mathcal{H}}_f(p)}{dp} &= \frac{1}{(p^2 - q^2)^2} (qT'(p) + (2p - q) \ln G^n) (p^2 - q^2) \\ &\quad - \frac{2p}{(p^2 - q^2)^2} (q(T(p) - T(q)) + p(p - q) \ln G^n) \\ &= \frac{p}{(p^2 - q^2)^2} g(p), \end{aligned}$$

where

$$g(p) = q(p - \frac{q^2}{p})T'(p) - 2q(T(p) - T(q)) + (pq - 2q^2 + \frac{q^3}{p}) \ln G^n.$$

It is easy to verify that  $g(-q) = g(q) = 0$  because

$$\begin{aligned} g(-q) &= q(-q - \frac{q^2}{-q})T'(-q) - 2q(T(-q) - T(q)) + (-qq - 2q^2 + \frac{q^3}{-q}) \ln G^n \\ &= 2q(T(q) - T(-q)) - 4q^2 \ln G^n \\ &= 4nq^2 \ln G - 4q^2 \ln G^n = 0 \text{ (by 2.5)}. \end{aligned}$$

By a simple derivative operation, we get

$$\begin{aligned} g'(p) &= q(1 + \frac{q^2}{p^2})T'(p) + q(p - \frac{q^2}{p})T''(p) - 2qT'(p) + (q - \frac{q^3}{p^2}) \ln G^n \\ &= \frac{(p^2 - q^2)q}{p} \left( T''(p) - \frac{1}{p} (T'(p) - \ln G^n) \right), \end{aligned}$$

note  $\ln G^n = T'(0)$ , then there must exist  $\xi = \theta_1 p, \theta_1 \in (0, 1)$  and  $\eta = \xi + \theta_2(p - \xi), \theta_2 \in (\xi, p)$  by Mean value Theorem such that

$$\begin{aligned} g'(p) &= \frac{(p^2 - q^2)q}{p} \left( T''(p) - \frac{1}{p} (T'(p) - T'(0)) \right) \\ &= \frac{(p^2 - q^2)q}{p} (T''(p) - T''(\xi)) \\ &= \frac{(p^2 - q^2)q}{p} (p - \xi)T'''(\eta) \\ &= (1 - \theta_1)(p^2 - q^2)qT'''(\eta). \end{aligned}$$

Since  $\eta > 0$  by (2.3)  $T'''(\eta) > 0$  if  $J < 0$ , then for  $q > 0$  there must be  $g'(p) > 0$  if  $p > q$  and  $g'(p) < 0$  if  $p < q$ , it follows that  $g(p) > g(q) = 0$ , and then we have  $\frac{d \ln \bar{\mathcal{H}}_f(p)}{dp} > 0$ , i.e.  $\bar{\mathcal{H}}_f(p)$  is strictly increasing; likewise for  $q < 0$  there must be  $g(p) < g(-q) = 0$  and then we have  $\frac{d \ln \bar{\mathcal{H}}_f(p)}{dp} < 0$ , i.e.  $\bar{\mathcal{H}}_f(p)$  is strictly decreasing.

In the same way,  $\bar{\mathcal{H}}_f(p)$  is strictly decreasing (increasing) for  $q > (<)0$  if  $J > 0$ .

The proof is completed. ■

*Proof of Corollary 2.* By Theorem 2, it is enough to calculate the limits of  $\bar{\mathcal{H}}_f(p)$  at  $p = 0$  and  $p = \infty$ . In fact,

$$\lim_{p \rightarrow 0} \mathcal{H}_f(p, q) = \lim_{p \rightarrow 0} \mathcal{H}_f(-p, q) = \mathcal{H}_f(0, q),$$

hence

$$\lim_{p \rightarrow 0} \bar{\mathcal{H}}_f(p) = \mathcal{H}_f(0, q).$$

On the other hand, assume  $b > a$ , then

$$\begin{aligned} \frac{T(p) - T(q)}{p - q} &= \frac{\ln f(a^p, b^p) - T(q)}{p - q} \\ &= \frac{np \ln b + \ln f((\frac{a}{b})^p, 1) - T(q)}{p - q}. \end{aligned}$$

If  $f(+0, 1) := \lim_{x \rightarrow 0, x > 0} f(x, 1) = \gamma \neq 0$ , then

$$\lim_{p \rightarrow \infty} \frac{T(p) - T(q)}{p - q} = n \ln b;$$

if  $\gamma = 0$  but exist  $\delta > 0$  such that  $\lim_{x \rightarrow \infty} x^\delta f(e^{-x}, 1) = \lambda > 0$ , then

$$\lim_{p \rightarrow \infty} \frac{T(p) - T(q)}{p - q} = \lim_{p \rightarrow \infty} \frac{np \ln b + \ln((p \ln(b/a))^\delta f(e^{-p \ln(b/a)}, 1)) - \ln(p \ln(b/a))^\delta - T(q)}{p - q} = n \ln b.$$

by (2.9)

$$\lim_{p \rightarrow \infty} \ln \bar{\mathcal{H}}_f(p) = \lim_{p \rightarrow \infty} \left( \frac{q}{p + q} \frac{T(p) - T(q)}{p - q} + \frac{p}{p + q} \ln G^n \right) = \ln G^n,$$

it follows that

$$\lim_{p \rightarrow \infty} \bar{\mathcal{H}}_f(p) = \exp(\lim_{p \rightarrow \infty} \ln \bar{\mathcal{H}}_f(p)) = \exp(\ln G^n) = G^n.$$

The proof ends. ■

### 3. SOME APPLICATIONS

By Theorem 2, the monotonicity of  $\bar{\mathcal{H}}_f(p) = \sqrt{\mathcal{H}_f(p, q)\mathcal{H}_f(-p, q)}$  depends on the sign of  $J = (x - y)(xI)_x$ . In this section, by some straightforward computations, we will present some conclusions about  $\bar{\mathcal{H}}_f(p)$ , where  $f(x, y) = L(x, y), A(x, y), E(x, y)$ .

(i) For  $f(x, y) = L(x, y) = \frac{x - y}{\ln x - \ln y}$ , where  $x, y > 0$  with  $x \neq y$ , there are

$$\begin{aligned} I &= (\ln f)_{xy} = \frac{1}{(x - y)^2} - \frac{1}{xy(\ln x - \ln y)^2} \\ &= \frac{1}{xy(x - y)^2} ((\sqrt{xy})^2 - L^2(x, y)) \\ J &= (x - y)(xI)_x = (x - y) \left( -\frac{x + y}{(x - y)^3} + \frac{2}{xy(\ln x - \ln y)^3} \right) \\ &= \frac{2}{xy(x - y)^2} \left( L^3(x, y) - \frac{x + y}{2} (\sqrt{xy})^2 \right). \end{aligned}$$

By the well-known inequalities  $L(x, y) > \sqrt{xy}$  and  $L(x, y) > \left(\frac{x+y}{2}\right)^{\frac{1}{3}} (\sqrt{xy})^{\frac{2}{3}}$ , we have  $I < 0, J > 0$ .

(ii) For  $f(x, y) = A(x, y) = \frac{x + y}{2}$ , where  $x, y > 0$  with  $x \neq y$ , there are

$$\begin{aligned} I &= (\ln f)_{xy} = -\frac{1}{(x + y)^2} < 0, \\ J &= (x - y)(xI)_x = \frac{(x - y)^2}{(x + y)^3} > 0. \end{aligned}$$

(iii) For  $f(x, y) = E(x, y) = e^{-1} (x^x/y^y)^{1/(x-y)}$ , where  $x, y > 0$  with  $x \neq y$ , there are

$$\begin{aligned} I &= (\ln f)_{xy} = \frac{1}{(x-y)^3} [2(x-y) - (x+y)(\ln x - \ln y)] \\ &= \frac{2(\ln x - \ln y)}{(x-y)^3} \left( L(x, y) - \frac{x+y}{2} \right) \\ J &= (x-y)(xI)_x = \frac{-3(x^2 - y^2) + (x^2 + 4xy + y^2)(\ln x - \ln y)}{(x-y)^3} \\ &= -\frac{6(\ln x - \ln y)}{(x-y)^3} \left( \frac{x^2 - y^2}{\ln x^2 - \ln y^2} - \frac{\frac{x^2 + y^2}{2} + 2xy}{3} \right). \end{aligned}$$

By the well-known inequalities  $L(x, y) < \frac{x+y}{2}$  and  $L(x, y) < \frac{\frac{x+y}{2} + 2\sqrt{xy}}{3}$ , we have  $I < 0, J > 0$ .

Notice that  $L(x, y), A(x, y)$  and  $E(x, y)$  are all symmetric with respect to  $x$  and  $y$ , and  $L(1, 1) = A(1, 1) = E(1, 1) = 1$ , using Theorems 2 and (2.8), we immediately get the following corollaries:

**Corollary 3.** For  $q > 0$  that  $\bar{\mathcal{H}}_f(p)$  is strictly decreasing in  $p$  on  $(0, \infty)$  and the following inequalities hold:

$$(3.1) \quad G < \sqrt{\mathcal{H}_L(p, q)\mathcal{H}_L(-p, q)} < L^{\frac{1}{q}}(a^q, b^q),$$

or

$$(3.2) \quad G < \mathcal{H}_L^{\frac{q}{p+q}}(p, q)G^{\frac{p}{p+q}} < L^{\frac{1}{q}}(a^q, b^q).$$

It is reversed if  $q < 0$ .

**Remark 2.** Taking  $q = 1$ , we immediately get (1.2). It shows that Corollary 3 is a generalization and refinement of H. Alzer's inequalities.

Taking  $q = 1, p = 0, \frac{1}{2}, 1, 2$  in Corollary 3, we can get the following inequalities chain:

$$(3.3) \quad L > A^{\frac{2}{3}}G^{\frac{1}{3}} > \sqrt{EG} > A^{\frac{1}{3}}G^{\frac{2}{3}} > \dots > G,$$

where  $A_t = (\frac{a^t + b^t}{2})^{\frac{1}{t}}, E = e^{-1}(b^b/a^a)^{1/(b-a)} (b \neq a)$ . Note  $A_{\frac{1}{2}} = \frac{A+G}{2}$ , then (3.3) can be rewritten as

$$(3.4) \quad L > (\frac{A+G}{2})^{\frac{2}{3}}G^{\frac{1}{3}} > \sqrt{EG} > A^{\frac{1}{3}}G^{\frac{2}{3}} > \dots > G.$$

It follows from second and third inequality in (3.4) that

$$(3.5) \quad A^{\frac{2}{3}}G^{\frac{1}{3}} < E < (\frac{A+G}{2})^{\frac{4}{3}}G^{-\frac{1}{3}}.$$

**Corollary 4.** For  $q > 0$  that  $\sqrt{\mathcal{H}_A(p, q)\mathcal{H}_A(-p, q)}$  is strictly decreasing in  $p$  on  $(0, \infty)$  and the following inequalities hold:

$$(3.6) \quad G < \sqrt{\mathcal{H}_A(p, q)\mathcal{H}_A(-p, q)} < A^{\frac{1}{q}}(a^q, b^q).$$

or

$$(3.7) \quad G < \mathcal{H}_A^{\frac{q}{p+q}}(p, q)G^{\frac{p}{p+q}} < A^{\frac{1}{q}}(a^q, b^q).$$

It is reversed if  $q < 0$ .

Taking  $q = 1, p = 0, \frac{1}{2}, 1, 2$  in Corollary 4, we can get the following inequalities chain:

$$(3.8) \quad A > A^{\frac{4}{3}} A_1^{-\frac{2}{3}} G^{\frac{1}{3}} > \sqrt{ZG} > A_2^{\frac{2}{3}} A^{-\frac{1}{3}} G^{\frac{2}{3}} > \cdots > G,$$

where  $Z = a^{\frac{a}{a+b}} b^{\frac{b}{a+b}}$ . It follows from second and third inequality in (3.8) that

$$A_2^{\frac{4}{3}} A^{-\frac{2}{3}} G^{\frac{1}{3}} < Z < A_3^{\frac{8}{3}} A_1^{-\frac{4}{3}} G^{-\frac{1}{3}}.$$

**Corollary 5.** For  $q > 0$  that  $\sqrt{\mathcal{H}_E(p, q)\mathcal{H}_E(-p, q)}$  is strictly decreasing in  $p$  on  $(0, \infty)$  and the following inequalities hold:

$$(3.9) \quad G < \sqrt{\mathcal{H}_E(p, q)\mathcal{H}_E(-p, q)} < E^{\frac{1}{q}}(a^q, b^q),$$

or

$$(3.10) \quad G < \mathcal{H}_E^{\frac{q}{p+q}}(p, q) G^{\frac{p}{p+q}} < E^{\frac{1}{q}}(a^q, b^q).$$

where  $E(a, b) = e^{-1}(b^b/a^a)^{1/(b-a)} (b \neq a)$ . It is reversed if  $q < 0$ .

Taking  $q = 1, p = 0, \frac{1}{2}, 1, 2$  in Corollary 5, notice

$$(3.11) \quad Z(a, b) = E(a^2, b^2)/E(a, b)$$

we can get the following inequalities chain:

$$(3.12) \quad E > Z^{\frac{2}{3}} G^{\frac{1}{3}} > \sqrt{YG} > Z^{\frac{1}{3}} G^{\frac{2}{3}} > \cdots > G,$$

where  $Z_t = Z^{\frac{1}{t}}(a^t, b^t) = a^{\frac{a^t}{a^t+b^t}} b^{\frac{b^t}{a^t+b^t}}$ ,  $Y = Ee^{1-\frac{G^2}{L^2}}$ .

## REFERENCES

- [1] H. Alzer, On Stolarsky's mean value family, *Internat. J. Math. Ed. Sci. Tech.* **20**(1)(1987), 186–189.
- [2] H. Alzer, Über Mittelwerte, die zwischen dem geometrischen und dem logarithmischen, Mittel zweier Zahlen liegen., *Anz. Österr. Akad. Wiss., Math.-Naturwiss. Kl.* **1986**(1986), 5–9. (German)
- [3] H. Alzer, Über eine einparametrische familie von Mittelwerten, *Bayer. Akad. Wiss. Math.-Natur. Kl. Sitzungsber.* **1987**(1988), 23–29. (German)
- [4] H. Alzer, Über eine einparametrische familie von Mittelwerten, II, *Bayer. Akad. Wiss. Math.-Natur. Kl. Sitzungsber.* **1988**(1989), 23–29. (German)
- [5] R. Yang and D. Cao, Generalizations of the logarithmic mean, *J. Ningbo Univ.* **2**(1)(1989), 105–108.
- [6] Zhen-Hang Yang, On the Homogeneous Functions with Two Parameters and Its Monotonicity, *JIPAM*, **6**(4), Article 101, 2005. [ONLINE] [http://jipam.vu.edu.au/images/155\\_05\\_JIPAM/155\\_05.pdf](http://jipam.vu.edu.au/images/155_05_JIPAM/155_05.pdf).
- [7] Zhen-Hang Yang, On the Monotonicity and Log-Convexity for One-Parameter Homogeneous Functions, *RGMIA Research Report Collection*, **8**(2), Article 14, 2005. [ONLINE] <http://rgmia.vu.edu.au/v8n2.html>.
- [8] Zhen-Hang Yang, On The Logarithmic Convexity for Two-parameters Homogeneous Functions, *RGMIA Research Report Collection*, **8**(2), Article 21, 2005. [ONLINE] <http://rgmia.vu.edu.au/v8n2.html>.
- [9] Zhen-Hang Yang, The Refinements and Extensions of Log-convexity for Two-parameter Homogeneous Functions, *RGMIA Research Report Collection*, **8**(3), Article 12, 2005. [ONLINE] <http://rgmia.vu.edu.au/v8n3.html>.
- [10] Zhen-Hang Yang, On the Monotonicity and Log-Convexity of a Four-Parameter Homogeneous, *RGMIA Research Report Collection*, **8**(3), Article 8, 2005. [ONLINE] <http://rgmia.vu.edu.au/v8n3.html>.

E-mail address: yzhkm@163.com